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What Is Bar Modelling?

Bar modelling is where pictures or ‘bars’ are
used to represent calculations and word problems.

Why Use Bar Modelling?

Sometimes calculations and word problems are difficult to visualise
in your head. Bar models help you to see the maths more clearly.

Once you become confident in using bar models, you can use
them to help your learning in many different areas of maths.




Using Bar Models to
Solve Word Problems

A lorry driver was on a 436 mile journey.
He stopped after 278 miles for a break.
How many miles does he have left to travel?
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7532 - 4625 = 2907

5582 + 4539 = 10121
9564 - 6723 = 2841
6758 + 1302 = 8057
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7532 - 4625 = 2907

5582 + 4539 = 10121
9564 - 6723 = 2841
6755 + 1302 = 8057
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‘12x1=12
12x2=24
12x3=36
pxize [ 432+12=36 |
12x6=72
12x7=84
12x8=96

12x7=108
12x10=120

1x15=15

. 2x15=30
3x15=45
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5x15=75

10 x15=150




241+ 17=1413

965+ 31=31r4

1415+ 12=117r11

4465+ 19 =235

1946 = 31= 62 r24

1371+ 40=34rl1

6527 +31=210r17

4895+ 46=106r19
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8572+ 39=219r31
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9758 < 48=203r14
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15245 + 62 = 24555













